



左②)
$$\begin{cases} (x+y)^2 + (R-r_n)^2 = (R+r_n)^2, & (x+y)^2 = 4Rr_n \\ x^2 + (R-r_{n+1})^2 = (R+r_{n+1})^2, & x^2 = 4Rr_{n+1} \\ y^2 + (r_n-r_{n+1})^2 = (r_n+r_{n+1})^2, & y^2 = 4r_n r_{n+1} \end{cases} \quad \text{--- ①}$$

①) $4Rr_{n+1} + 2 \cdot 2\sqrt{R} \sqrt{r_{n+1}} \cdot 2\sqrt{r_n} \sqrt{r_{n+1}} + 4r_n r_{n+1} = 4Rr_n$

$(R + 2\sqrt{R} \sqrt{r_n} + r_n) r_{n+1} = Rr_n$

$\frac{1}{r_n} + \frac{2}{\sqrt{R} \sqrt{r_n}} + \frac{1}{R} = \frac{1}{r_{n+1}}, \quad \left(\frac{1}{\sqrt{r_n}} + \frac{1}{\sqrt{R}}\right)^2 = \frac{1}{r_{n+1}}, \quad \frac{1}{\sqrt{r_n}} + \frac{1}{\sqrt{R}} = \frac{1}{\sqrt{r_{n+1}}} \quad \text{--- ②}$

$S_n = \frac{1}{\sqrt{r_n}} < \frac{1}{\sqrt{R}}$

②) $\frac{1}{\sqrt{r_1}} = \frac{1}{\sqrt{R}} + \frac{1}{\sqrt{R}}$ ①) $S_1 = \frac{1}{\sqrt{R}} + \frac{1}{\sqrt{R}}$

$S_n = \frac{n}{\sqrt{R}} + \frac{1}{\sqrt{R}}$

$r_n = \frac{1}{\left(\frac{n}{\sqrt{R}} + \frac{1}{\sqrt{R}}\right)^2} = \frac{1}{\frac{n^2}{R} + \frac{2n}{\sqrt{R}} + \frac{1}{R}}$

$\lim_{n \rightarrow \infty} n^2 r_n = \lim_{n \rightarrow \infty} \frac{1}{\frac{1}{R} + \frac{2}{n\sqrt{R}} + \frac{1}{n^2 R}} = R$

$S_n = S_{n-1} + \frac{1}{\sqrt{R}}$

$S_{n-1} = S_{n-2} + \frac{1}{\sqrt{R}}$

⋮

$S_2 = S_1 + \frac{1}{\sqrt{R}}$

$S_n = S_1 + (n-1) \frac{1}{\sqrt{R}}$